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QUESTION 1

The two switches shown in the figure below have both enabled the STP protocol, which port will eventually be in the
Blocking state? () 

A. STB\\'s G0/0/3 port 

B. C. G0/0/2 port of STA 

C. G0/0/3 port of STA 

Correct Answer: B 

 

 

QUESTION 2

The output information of a certain router is shown in the figure. Which of the following statements are correct? ()
(Multiple Choice Questions) 

A. The DR priority of this routing interface is 10 

B. The cost value of this interface is 1 

C. This router is BDR 

D. The Router ID of the router is 10.0.1.1 

Correct Answer: BCD 
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QUESTION 3

Which of the following routing protocols has the highest priority? 

A. Direct 

B. Static 

C. OSPF 

Correct Answer: B 

 

 

QUESTION 4

The network shown in the figure. Which of the following configurations can realize that the host A can access the
Internet, but the host B can not? (ABCD) (Multiple Choice Questions) 

A. acl number 2000 Rule5 deny source100.0.12.0.0.0.0.255Rule 10 permit # Interface GigabitEthernet0/0/3 Traffic-filter
outbound acl 2000 # 

B. acl number 2000 Rule 5 permit source 100.0.13.0.0.0.0.255 Rule10 deny source100.0.12.0.0.0.0.255# Interface
GigabitEthernet0/0/3 Traffic-filter outbound acl 2000 # 

C. acl number 2000 Rule 5 permit source 100.0.13.0.0.0.0.255 Rule 10 deny # Interface GigabitEthernet0/0/3 Traffic-
filter outbound acl 2000 # 

D. acl number 2000 Rule5 deny source 100.0.12.0.0.0.0.255 Rule 10 permit source 100.0.13.0.0.0.0.255 # Interface
GigabitEthernet0/0/3 Traffic-filter outbound acl 2000 # 

Correct Answer: ABCD 

 

QUESTION 5

NAPT distinguishes the IP addresses of different users through the protocol numbers in TCP, UDP, or IP packets () 

A. True 

B. False 

Correct Answer: B 
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